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TpenupoBka BeruuTaHUs (2KN1)

Nwms:

Pemure kaxayr 3axauy.
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TpenupoBka BeruuTaHUs (2KN1) Nwmsi: K104 K NpaBHILHBIM OTBETaM
Pemnre KaKI1yI0 32121Yy.
3-2=_1 4-2= 2 7-2= 5 6-2= 4
12-2= 10 10-2= 8 9-2= 17 I1-2= 9
8-2=_06 5-2=_3 6-2= 4 4-2= 2
I11-2= 9 8§-2= 6 7-2= 5 12-2= 10
5-2= 3 3-2=_ 1 9-2= 7 10-2= 8
3-2=1 6-2= 4 5-2= 3 7-2= 5
9-2= 7 4-2= 2 12-2= 10 I11-2= 9
8-2= 6 10-2= 8 4-2= 2 7-2= 5
5-2=_3 6-2= 4 12-2= 10 10-2= 8
8-2= 6 9-2=_17 11-2= 9 3-2= 1
6-2=_ 4 7-2=_5 5-2=_3 3-2=_1
10-2= 8 8§-2= 6 11-2= 9 12-2= 10
4-2= 2 9-2= 7 4-2=_12 9-2=_7
5-2=_3 7-2=_5 3-2=_1 8§-2=_06
I11-2= 9 6-2= 4 12-2= 10 10-2= 8
9-2= 7 12-2= 10 8-2= 6 I11-2= 9
5-2= 3 6-2= 4 7-2= 5 3-2=1
10-2= 8 4-2= 2 12-2= 10 5-2= 3
6-2= 4 10-2= 8 4-2= 2 3-2= 1
8-2= 6 9-2= 7 I11-2= 9 7-2= 5
I11-2= 9 6-2= 4 4-2=_12 7-2=_5
8-2=_6 5-2=_3 10-2= 8 12-2= 10
9-2=_17 3-2=_1 7-2=_5 10-2= 8
5-2=_3 3-2=_1 8§-2= 6 4-2= 2
I1-2= 9 9-2= 17 12-2= 10 6-2= 4
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